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To hit the ceiling(roof)
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+ Kathy will hit the ceiling when she finds out
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you lost her watch.
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« If I don’t pass this test, my parents will hit the
roof.
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» When Lester reported the accident he had in
the family car, his father hit the ceiling.
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To have a (conniption) fit :
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* Your mother will have a fit if you don't clean

up the floor.
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« The angry shopper had a conniption fit right
in the middle of the store.
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« When he told his mother he was going to get
married, she almost threw a fit.
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To lose one’s head :
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« I'm sorry I yelled at you. I just lost my head,

when you told me your decision.
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» The man lost his head and started hitting

everyone around him.
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» When her front tire blew out, Mrs. Harris lost

her head and swerved into an oncoming car.
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C & C(Computer and Communication) ;
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CS(Communication Satellite) ;
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DBMS(DataBase Management System) ;
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